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Previous functional forms...
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New functional forms (based on Fpi)...
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Q%=2.115, W=2.95 Q%=3.0, W=3.14 Q%=5.5, W=3.02
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*rkk =4 Best statistics by order of mag




i=1 Q2=3.0, W=3.14 Q?=5.5, W=3.02

. . . . Sigma L Model Fit Sigma T Model Fit
Sigma L Model Fit Sigma T Model Fit 9 9
- - r - - 160 Fit Status: Fit Successful 75F Fit Status: Fit Successful
25 E Fit Status: Fit Successful r Fit Status: Fit Successful B E
A 14l 140F 43
o r 120 8SE
L 12 i F T E
i = [ < 100 g o
L > L s F s
- 5 5 o 5 55F
C S 1o 2 sof 2 55
C g I - F - F
F K =~ 60 = S5
L ;’f sk s 6o s F
- olc "L o F
i a % 4oF 45E ale
L s % ¥ L 20f 4
L - 1 K o
+ F 0 '_\L e X | 35F +
C 4| n E
& ¥ r ¥ i il T vespliee e i ol o coidlverelvies Ursilserlioe liilord bigs
T T D I T S I T SEP PP S Y P S 045 05 055 06 065 07 075 08 085 0.9 045 05 055 06 065 07 075 0.8 085 09
045 02 025 03 035 04 045 05 015 02 025 03 035 04 045 05 -t [GeV?] -t [GeV?]
-t [GeV?] -t [GeV?]
Sigma LT Model Fit Sigma TT Model Fit Sigma LT Model Fit Sigma TT Model Fit
4 - .. e F
Fit Status: Fit Successful 2 Fit Status: Fit Successful 36 Fit Status: Fit Successful L Fit Statuls: Fit Successful
C F B 04
35 q . e L
3f 3.2F 02
B i T o E \
[} [} E H
g 2o S o : N
s F s, SF 2 28 2 of
- F [ F I
S ol 5 F E
n F —S6E B
S s 8 ShsF ko4
1.5F F TTaap R
& [ 22F i
1= H E 041
£ 2f L
OS5I o udanasioinsdnnsndsnmsiopedimemd | TN PR TUE DR TN LT Lo el T i LYorerre 18E Lol
015 02 025 03 035 04 045 05 015 02 025 03 035 04 045 05 045 05 055 0.6 065 07 075 0.8 085 0.9 045 05 0.55 0.6 065 0.7 0.75 08 085 09
-t [GeVd) -t [GeV?] -t [GeV?] -t [GeV?]



Iteration 1

0.8

0.2

Q%=3.0, W=3.14

¢ Q2=3.0,wW=3.14
4 Q2=3.0,w=3.14

0.45

¢ Q2=3.0,w=3.14
A Q2=3.0,w=3.14

—pe|—t
or = P1 'QF,L’tpole‘e pe|—t|

]_

e Prol—tl  gip 0 1

Pe

[UT:p5' F.T

P9
1+ Q2

QLT =

Introduce a ||
dependence?
o exp(-p,|-t])
o (p,-I-t)

Sigma T Model Fit

i

Q?=3.0 does start to
flatten out but there is
still a |-t| dependence =4
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